(1)a) Give an example from outside Lebanon of ‘teaching a foreign language
difference between this and ‘teaching in a foreign language’.
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b) Why does the use of a European language as the medium of instruction tend to favour

the higher socioeconomic classes in ex-colonised societies?
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b) Name and describe an example a spec1a1 learning difficulty encountered among

children within the normal 1Q range. \ L; ?
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systems. Briefly explain why.
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b) Describe and explain the effect of single-sex schooling on the subject choices of girls at

(2 marks)

upper secondary level in systems with open subject choice.
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b) Distinguish between ‘trickle-down’ and ‘trickle-up’ effects of CBEESs at t
secondary schooling.
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¢) Explain what is meant by the expression “teaching to the test” and why this is not a good

thing.
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(5)a) “Professional cSre dods fot mean ignoring a problem but neither does it necessarily
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mean intervening.” What is the ‘middle way” option and when should it be used?
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b) What does ‘PCK” stand for and what are its parameters?
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(6)a) Why has there been growing interest in some western countries in voced
for the problem of boys falling behind girls at school?
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b) “Most students who fail the regular Brevet cross over to voced and enrol in the Brevet
Professionnelle.” True or false? If false, explain.— l’” QL7 BT J,
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¢) Define and give two exarr.pfas_aﬁé;e-ueea&eﬁa-l education as part of a broad, balanced

curriculum.
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